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; 100kN/mM#Z#B% % - -~ -[3mZEEBR S -~ - -| 100kN/M#Z# 8% % - ~ -[3mEBZS ~ -
Zh s 1.00 |1 0.00 ~ 398 5845 | =nLs | 0o0 ~ 000|168 7.38 ZznLst 1.00 | 5.00 ~ 5.90 5845 | =N | 5,00 ~ 590 | 1.68 7.38
P 100kN/mM%Z#BZ % ~ -|3mEBZD ~ -| 100kN/M%#BZ% ~ -|3mE#Z D ~
Zhn s 1.00 | 0.00 ~ 4.26 62.56 | TN | 000 ~ 000 1.66 7.29 ZznLst 1.00 | 5.00 ~ 6.60 62.56 | TN | 65,00 ~ 6.60 | 1.66 7.29
3 100kN/mM%Z#BZ % ~ -|3mE#BZD ~ -| 100kN/M%#BZ % ~ -|3mE#BZD ~
Zhn s 1.00 | 000 ~ 601 89.12 | #hst | 000 ~ 601|210 9.23 ZhnLst 1.00 | 5.00 ~ 15.00 89.12 | #nLS | 5,00 ~ 1500|210 9.23
4 100kN/mM%Z#BZ % ~ -|3mEBZD ~ -| 100kN/M%#BZ% ~ -|3mEBZD ~
zh s 1.00 | 000 ~ 594 87.98 | #hust | 000 ~ 594 1.95 8.569 zhLs 1.00 | 500 ~ 13562 87.98 | #nLSY | 5,00 ~ 1362 1.95 8.69
5 100kN/m#%#BZ % ~ -|3mEEZ D ~ -| 100kN/M%H#BZ 5 ~ -[3mEEZD ~
zh s 1.00 | 000 ~ 585 86.49 | #hst | 000 ~ 585|202 887 zhLs 1.00 | 5.00 ~ 1150 86.49 | #nLSY | 5,00 ~ 1150 | 2.02 8.87
g 100kN/m#%#BZ % ~ -|3mEEZ D ~ -| 100kN/m%H#BZ 5 ~ -[3mEEZS ~
TN LS 1.00 | 000 ~ 546 51.23 | #Fhs | 0.00 ~ 0.00| 1.66 7.82 zhLst 1.00 | 5.00 ~ 5.00 51.25 | TS | 500 ~ 500 | 1.66 7.32
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBERD ~
zh s ~ zhnst ~ zhLst ~ zhLsn ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
zh s ~ zhLs ~ zhLst ~ zh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZTh LS ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZTh LS ~ LS ~ Zhn st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZTh LS ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZTh LS ~ LS ~ Zhn st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLS ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8Z % ~ IMEEZD ~
Zn LS ~ ZThLsh ~ LS ~ Zn st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ IMEEZD ~
Zh s ~ Zh LS ~ Zh LS ~ ZnList ~




